
Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplica i decimali per potenze negative di dieci

9119, 9 × 0.001 = ________ 3700 × 0.0001 = ________

8125 × 0.01 = ________ 3301 × 0.001 = ________

6095, 1 × 0.0001 = ________ 3780, 6 × 0.0001 = ________

3671, 3 × 0.001 = ________ 8918, 5 × 0.0001 = ________

4298, 6 × 0.001 = ________ 9078, 2 × 0.0001 = ________

2062, 3 × 0.0001 = ________ 8523, 8 × 0.01 = ________

2711, 5 × 0.001 = ________ 1268, 6 × 0.001 = ________

2270, 5 × 0.001 = ________ 3726, 4 × 0.001 = ________

1944, 9 × 0.01 = ________ 4437, 8 × 0.0001 = ________

1747, 2 × 0.001 = ________ 2175, 4 × 0.01 = ________
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Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplica i decimali per potenze negative di dieci

9119, 9 × 0.001 = 9.1199 3700 × 0.0001 = 0.37

8125 × 0.01 = 81.25 3301 × 0.001 = 3.301

6095, 1 × 0.0001 = 0.60951 3780, 6 × 0.0001 = 0.37806

3671, 3 × 0.001 = 3.6713 8918, 5 × 0.0001 = 0.89185

4298, 6 × 0.001 = 4.2986 9078, 2 × 0.0001 = 0.90782

2062, 3 × 0.0001 = 0.20623 8523, 8 × 0.01 = 85.238

2711, 5 × 0.001 = 2.7115 1268, 6 × 0.001 = 1.2686

2270, 5 × 0.001 = 2.2705 3726, 4 × 0.001 = 3.7264

1944, 9 × 0.01 = 19.449 4437, 8 × 0.0001 = 0.44378

1747, 2 × 0.001 = 1.7472 2175, 4 × 0.01 = 21.754
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